( AW 1AE A/n— A )
ERE 285 1A 88 (H)
HDCP16.4%T I

E G E £ ouT IN | GROSS | HDCP | NET
* 1 AGRE 38 40 18 9.7 68.3
%* 2 gl 3 42 44 86 13.2 | 72.8
¥ 3 Bh BIL 44 40 84 106 | 73.4
* 4 RIE = 47 44 91 15.0 | 76.0
¥ 5 RER FEIE 41 44 85 8.3 16.7
6 Bk 44 42 86 9.1 716.9
*7| /MNEFH Efik 42 44 86 9.1 716.9
8 XKE HiE 43 47 90 128 | 71.2

9 AL & 45 44 89 114 | 77.6
%10 BA fik 47 40 87 6.8 80.2
11 gl &— 44 39 83 2.6 80.4
12 % E— 49 46 95 14.0 | 81.0
13 Bl BEA 48 45 93 119 | 81.1
14 =H =R 49 43 92 10.8 | 81.2
*15 Kixg R 42 40 82 0.7 81.3
16 EIL ESE 50 45 95 13.6 | 81.4
17 £F% =R 43 42 85 3.2 81.8
18 Ak ==k 52 44 96 13.8 | 82.2
19 FIE #EiE o0 49 99 16.3 | 82.7
%20 ZH & 50 46 96 11.0 | 85.0
211 BE B— 45 42 87 1.2 | 85.8
22| /UE E— 49 48 97 11.2 | 85.8
23 i WA 46 48 94 5.9 88.1
24 Wit Sk 44 52 96 1.9 88.1
25| fHE #EX 56 43 99 | 10.9 | 88.1
26 RilE IEIS 48 47 95 3.6 91.4
Xl A R - - - - -
®iE 2EH AHB - - - - -
¥iE| =% FnAl - - - - -
X o) S - - - - -
XiE K &— - - - - -
xiE IEF HH - - - - -
¥XiE BN = - - - - -
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| 4 K % OuT IN GROSS | HDCP NET
* 1 HO BE= 51 43 94 23.7 70.3
* 2 ZKEp B— 50 48 98 23.7 74.3
% 3 BH =& 48 50 98 22.9 75.1
* 4 B EB— 44 46 90 14.4 715.6
* 5 INK EER 45 49 94 18.1 75.9
6 BEF SRER 53 46 99 23.0 76.0
*7 tRE PR 54 45 99 21.4 11.6
8 x5 AF 55 47 102 23.4 718.6

9 BiF E— 50 53 103 24.0 79.0
*10 ©E EfT 49 51 100 20.7 79.3
11 E fiE 54 61 115 34.5 80.5
12 ZFINl ZE 51 51 102 20.8 81.2
13 KiE B 51 52 103 21.3 81.7
14 RE F— 50 51 101 19.2 81.8
%15 EF BX 50 49 99 17.1 81.9
16 Kk &G 49 56 105 21.2 83.8
17 HE EE 61 53 114 29.1 84.9
18 B XE 55 54 109 23.1 85.9
19 Pt HBE 45 58 103 16.9 86.1
%20 IRA FHE] 56 48 104 17.9 86.1
21 BH IE3E 53 51 104 17.0 87.0
22 Xy © 57 50 107 19.7 87.3
23 X 2 56 50 106 18.5 817.5
24 AR B— 60 56 116 26.8 89.2
%25 RO 82 56 52 108 18.7 89.3
26 - FS 55 61 116 19.5 96.5
27 EE BE 55 59 114 17.0 97.0
xiE| @Bk =2 A I T
3EHE YRR Sefk - - - - -
x®iE| =R =9 - - | - ] -
xiE| Wik BE R I
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